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=/6—/9<0
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=/11—-/16<0
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=/9—/7>0
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=/5—/16<0
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=/10—/9>0
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=/3—/4<0
18 (4—/2)—2=2—/2
=/4—/2>0
19 3—(/8—1)=4—/8
=/16—/8>0
20 2—(/19—3)=5—/19
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222—(3—/3)=—1+/3
=/3—y1>0
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24 4—(/8+1)=3—/8
=/9—/8>0
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05 /1_0_ 10_‘/E
06 %z M _mo

35 _ [35_
07 77 f/j—ﬁ
/56 _ [56 _
08 78 —/z—ﬁ
J2 _[2_ |1
00 L= [Z-[T
Y11 11 |1
0 M-I [T
11@+J§:@x%:
12J§+J§:@x%:
13 /143+/11

J11
_ (143
11
=/13
14 3/6+/2

RIS

| 63 _
9

/35 _
2=

15 6/6+3/2
=, 1
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1
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0o L 4x/5 _ 45
5 J5x/5 5
1o & 6X(T _ 87
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:Jﬁxﬁlx%
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03 /10+/2x /3

04 [14x 2277

=/14x /22 % 1

J77

— [14x22x L

77
=/J4=2
05/6x2/2+/6

1
=J6x2/2x —
/6

=2x /6><2><%
06 2/2x/3+2/3
1
=2/2x[3x —
J2x /3% 203
(g oo
=/2
07 277+ w6

3
=2/7x = x/6
(T <6

/14

- [7s L
=(2x3)x [7x i1 <6

=6/3

=2
10 /7x 2127

_ 1
=J7x/21x 33

TN eenes s
=3 X [7TX21X 3
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3
11 J49+-/7x (—/28)
:7><L7x(—2ﬁ)

77
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=7 (=2)}x [+x7

=14
12 3/2+/6x /12

=3/2x % x 23
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#—?ﬁ)xﬁxzﬁ
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18, Aol SAl2 AL (1) (2e 41%)
02 /2+5/2=(1+5)/2=6/2
03 3/6+6/6=(3+6)/6=9/6
04 5/2+6/2=(5+6)/2=11/2

05 2/7+8/7=(2+8)/7=10/7

06 3/2+4/2=(3+4)/2=7/2

07 4/17+2/17=(4+2)/17=6/17
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09 7/10+9/10=(7+49)/10=16/10
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=(—4+8—2)/3=2/3
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09 a+b=(/2+1)+(J2—1)=2/2
10 ab=(/2+1)x (J2—1)=2—1=1
1,1 atb _2/2
11;4‘7— @b 1 =2/2
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19 +b b —T—lo

20 &’ —ab+b'=10—1=9

24, AT 28| YLt 5
B8 5%)

05 /3x10000
=100/3
=100%1.732
=173.2

06 /30 <100
=10/30
=10 X 5.477
=54.77
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(L J5ssiet oA )

OL QI5&-Bofo] & (25 58%)
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Yk,

03. Q1588 ZA (1) —¢°+2ab+b’
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45 O 2"—6x+9=(x—3)*
© 2’ +14x+49=(x+7)*
© 42°+20x+25=(22+5)°

55 a=+2/1=+2
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59 ¢>0, a—2< 00|82
[+ |d—4a+4
=/d+[(a—2)"
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60 a—3<0, a>00|B2
Ji—6a+9—]d
={(a—3)—|d
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[t tati—[d
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=b—a
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02 r’+2x+1=(x+1)*
245x+4=(x+1)(x+4)0|BZ
T oY 35 Q=+ 10]t
03 42°—9=(22+3) (22—3)
20" —21x+27=(x—9) (22—3) 0]
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04 2’4+ 9x+8=(x+1)(x+8)
20"+ 9x—56=(220—7) (x+8)0|E&
F o9 3 e 8ol
06 2’ +ax—10=(x—2)(x+b)
Zxow
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14 (x—1)a+(1—x)
=(z—1)(a—1)

15 (a+b)*+(a+b)
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=(z—1)(x—2)
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20 &*(b—1)+(1—0b)
=(b—-1)(a’—1)
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=A’+4A—5
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(FR 4)
=A(A+1)—12
=A+A-12
=(A+4)(A—3)
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=(A+B)(A—B)
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Folxl 4]
—A— B
=(A+B)(A—B)
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=—7(2a—3)
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=(x+1)*(z—1)

06 a"—4a+4—0b"
=(a—2)"=b
=(a+b—2)(a—b—2)
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08 1—a’—b"+2ab
=1—(a—>b)’
=(1+a—b)(1—a+bd)

IL Q143 321 o1 0] At

(@2 82%)

02 23 X 40+27 X 40
=(23+27) x40
=50x% 40
=2000

03 84x0.91+84x0.09
=84x(0.91+0.09)
=84x1
=84

04 31x0.24+69x0.24
=(31+69) x0.24
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=170% (3.59—3.49)
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